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1. %A =(a,) B—A n RIEZEE, T

o= (xl 3 Xg "t rxn) 13 - (J"l 3¥2s """ syn)-

7E R FEXAR (a,B) N (a,B) =adp’.
1) WM ERXAENLZ TR B — B2 [

2) ;ﬁ%{ﬁlﬁ]ﬂ £ =(I:01'“;0)$£3 = (0,],'“,0}, tty, E, = (0,0,‘“,
DR ERBEME;

3) BA@S X% 6 b B4R - A6 8 A 5% 3 B A 55 =K
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2. ER H KR a,p ZEEIM(a,p) ( WRBEFEN). ®
]) ﬂ"=(2,],3,2) rﬂ:(]tzl "2,]);

2) ﬂ=(112$2:3):ﬂ=(39115:]);

3) @=(1,1,1,2) ,8=(3,1,-1,0).



S At

3. d(a,B) = |a-B | BHHEN a5 p HEEE,EH:
d(a,y) <d(a,B) +d(B,y).

4. ERI‘ ¢'}R“${ﬁfﬁ]ﬂ—lﬁ(l.ls _131)!(1? _ls _1:1)’(2’19173)
EA.
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5. e, ,a,, ,a, ZEKKER VE—4HH GEH:
]) ﬁn% Y E Vﬁ(?ra’.) =0:i=] ,2,“',?1,%'3*’2\ ‘}"=0;

2) mE vy, e VN E—ac VA (y,,a) =(n,a) A4 v =7.
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6. &g ,6,,6 BEYERRRZ B P —HfrdE IEZRZE, IEHA -

1 1 1
a, =T(28' +2¢, - &) ,a, =T(2€' -, +2&,) @, =~5-(e, -2¢, -2¢,)

e — AR HE IE AT 2.

7. &e ,6,,8,6,,6 BRHBKERKER VI —HAizHEZHE,V, =
L(a, ,a,,a,) HH a =€ +e,,a, =€, — ¢, +&,,a, =2¢, +&, +&,5k V, 1)

— 4 R M IE ST A
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8. RIFWET A
2%, +x, =%, +x, -~ 3x, =0,
{x,+x2—x3 + x,=0

AR 23 JB] (1R R 728 8] ) B9 — AR M IE RS 2.

9. 7 R[x], TEXABH (f,6) = [ flx)g(x)dx. K Rx], #§—M17
WIESHE (M 12,070 HRIEERA).
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10, & VE— nHBKEKZR , a0 & VP —REEMR=R.
1) §EEH: V, =1x | (x,a) =0,xe V| B VI —TF=H];

2) kB .V, B4R ET n - 1.



